50

— Nube — Ref — Ajusten

Temperatura
I

45
IS
5 40
b=
© 35
2
©
5 30
3
] 25
|_
20
15 1 1 1
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec
Humedad
80
70 Ry
o 60
E
= 50
® 40
ie
Q
g 30
=}
T 20
10
0 1 1 1
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec
Ozono
800 - - - 70
700 | A 160
600 ‘ 150
Q Y—
2 500 [}
S 440 x
= o
8 400 20 S
g 300 o
|/ 20
200 ‘
(
100 'llm 10
0 = 0
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec
Monoxido Carbono
500 - 1.0
2
S 450 | 0.5
=2
2
§ 400 } 0.0
®
@]
o 350§ { —0.5
S
x
2
o 300 4-1.0
=
250 L L L -1.5
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec
Dioxido Nitrogeno
2650 . . T 70
9 60
2 2600 g
8 50 %
2
o =
Z 2500 0=
o he)
: 20 %
© 2450 o
)] 10 [a)
2400 L L L 0
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec
PM2.5 Count
550 — - - - 80
g u—
[}
2 o
+ c
S 3
S ©
| T
\n N
S z
o
10
00:00 18:00 12:00 06:00 00:00
11-Dec 11-Dec 12-Dec 13-Dec 14-Dec

Ozono Ref

Monoxido Carbono Ref

Temperatura Ref

Humedad Ref

-10
-100

600
500 |-
400 |-
300 |-
200

100 |

—-100

Dioxido Nitrogeno Ref

PM2.5_Count Ref

32

30 |
28 |
26 |
24 |
22 |
20 |
18 -
16 |
14

15

40 45 50 55

80 |

60 |

40 -

-10

70

40 50 60 70

40 -
30 |
20 -
10 |

100 200 300 400 500

600 700 800
Ozono Nube

200

80

Il
400

1 1 1 1 1
600 800 1000 1200 1400 1600
Monoxido Carbono Nube

70 |
60 |-
50 |
40 -

10

0
2400

Il
2450

Il Il Il
2500 2550 2600

Dioxido Nitrogeno Nube

2650

90

70 |
60 |
50 |
40 |
30 |

Il
200

Il Il Il
300 400 500

PM2.5_Count Nube

600



